Line Graph

The line chart shows average attendance at the cinema among various age groups in the
US from 2000 to 2011.
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The line chart details figures for cinema attendance across various age demographics in the
United States between 2000 and 2011. Looking from an overall perspective, it is readily
apparent that attendance increased for all groups, with younger people, especially teenagers
and young adults, watching movies the most often. As people got older, they tended to go to the
cinema less frequently.

Those aged 15 — 24 began the period with 15% going to the cinema, a narrow lead over the
other demographics. This figure then rose steadily to over 30% by 2004, fluctuated between
35% and 50% for the next several years before finishing at 52%. In contrast, theater attendance
from the age of 35 and up was marginal yet increased consistently beginning at 1% and ending
the period at a high point of 13%.

The trends for 7-14 and 25-35-year-old cinema-goers were similar throughout as the former
began twice as high at 10%. Attendance was then erratic but only slightly up overall until 2005
when there was a surge to 30%, followed by a high of 38% in 2010 and a final figure of 30% in
2011. The latter group displayed an unstable trend with comparable percentages, intersected
with the aforementioned age bracket twice, and concluded the period with a partial recovery to
an identical 30% figure.



Pie Chart

You should spend about 20 minutes on this task.

The pie charts below show the devices people in the 18 to 25 age group use to watch television
in Canada in two different years.

Summarise the information by selecting and reporting the main features, and make
comparisons where relevant.

Write at least 150 words.

2009 2019
= Mobile phone = Laptop = Tablet
Desktop computer = Flat-screen TV = Conventional TV

The two charts illustrate the appliances that young adults in Canada use to watch television
programmes and how this has changed over the ten-year period from 2009 to 2019. One of the key
changes over this decade is the transition from conventional televisions to flat-screens, with the
former falling from 34% to 4% and the latter rising from 8% to 27% for the period, making it the
number one television device. The latter has replaced the former as the most popular TV viewing
device.

Another general trend is that younger people are now watching television on smaller, more portable
devices than in 2009. In particular, the use of mobile phones and tablets for viewing purposes has
increased by almost three quarters to 26% and tablet use seeing an almost four-fold increase to
19%. This trend is reinforced by the number of 18 to 25-year-olds using computers for the TV
viewing. Both desktop and laptop computers saw substantial falls in usage (around a third for both).

Overall then, it can be said that the two pie charts suggest the TV viewing habits in Canada over the
period saw a move away from older devices and towards more modern equivalents.



Table

You should spend about 20 minutes on this task.

The table below gives information about languages with the most native speakers.
Summarise the information by selecting and reporting the main features, and make
comparisons where relevant.

Write at least 150 words.

Number of speakers
Number of i
Language ) as an aditional Total number of speakers
native speakers
language

Mandarin Chinese 900 million 190 million 1,090 million
Hindi 370 million 120 million 430 million
Spanish 350 million 70 million 420 million
English 339 million 603 million 942 million
Arabic 206 million 24 million 230 million
Portuguese 203 million 10 million 213 million

The table illustrates the number of native speakers of six languages as well as the number of
speakers of these languages as an additional language. It is noticeable that the number of
speakers of Mandarin Chinese is strikingly higher than the other languages with over one billion
speakers.

People who speak Mandarin largely speak it as a first language (900 million). In comparison to
this only 190 million people speak Mandarin Chinese as an additional language. What is
remarkable about English speakers is that the number of speakers of English as an additional
language is higher than that of native speakers of English (603 and 339 million respectively).

While the total number of Hindi speakers (490 million) is roughly equal to that of Spanish
speakers (420 million); when it comes to speaking these languages as an additional language
the number for Hindi is much higher (120 million) than that for Spanish (70 million).

Native speakers of Arabic and Portuguese are similar in number with 206 million and 203 million
respectively. However, the number of Arabic speakers as an additional language (24 million) is
almost 2.5 times higher than speakers of Portuguese as an additional language.



Bar Chart

You should spend about 20 minutes on this task.

The graphs below show the number of medals won by the top five countries in the summer and
winter Olympics.

Summarise the information by selecting and reporting the main features, and make
comparisons where relevant.

Write at least 150 words.
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The first bar chart shows which countries have won the most medals in the winter Olympics. It
also states how many gold, silver and bronze medals each country has achieved. In contrast,
the second graph shows which nations have won the most medals in the summer Olympics.



Overall, the first graph shows that in the winter Olympics, Norway has gained the most medals,
winning approximately an equal number of gold, silver and bronze medals. It has won about 370
medals, whereas Canada, in fifth place, has won approximately 200 medals.

The results of the summer Olympics are quite different, however, with the USA having won the
most medals. Overall, the USA has won just over 2,500 medals, a much higher number than the
other four countries on the graph. Russia is the second highest, winning approximately 1,800
medals.

To summarise, the bar charts illustrate how many medals the highest-ranking countries have
won in the summer and winter Olympics. The results of each Olympics are very different, with
the USA, Russia and Germany being successful in both.



Map

You should spend about 20 minutes on this task.

The map below is of the town of Canterbury. A new school (S) is planned for the area. The map
shows two possible sites for the school.

Summarise the information by selecting and reporting the main features, and make
comparisons where relevant.

Write at least 150 words.

Skm to Sturry
(Fopulation: 7,000)

Tkm to Chartham
(Fopulation: 4,500)

CANTERBURY
I Countryside Bl Town Centre (no traffic zone)
Housing Il University

Il M ain roads

The map shows two proposed sites for a new school for the town of Canterbury and the
surrounding area.

The first site (S1) is situated in the countryside, to the north-east of the town centre. It is just
outside the main housing area of the town and not far from the main road that links Sturry with
Canterbury. It would therefore probably be in an ideal location for students coming from Sturry,
which is only 5 kilometres away, and those who live on the east side of Canterbury. If there are
students coming from Chartham, which is 7 kilometres to the south-west, they would be able to
reach the school by taking the main road that runs south-west of Canterbury.

The second site (S2) is located in the town centre itself. There are advantages of this: it makes
it practically equidistant for students coming from either Sturry or Chartham. Moreover, it would
presumably be relatively easy for students who live in the housing area around the town centre
to reach the school. However, because of the no traffic zone in the town centre, no parent would
be able to drive their child all the way to school. This may make travel arrangements difficult for
some parents.



Diagram

You should spend about 20 minutes on this task.

The diagrams show a structure that is used to generate electricity from wave power.
Summarise the information by selecting and reporting the main features, and make
comparisons where relevant.

Write at least 150 words.
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The two diagrams show how electricity can be generated from the rise and fall of water caused
by sea waves.

The process involves a structure which is mounted on the side of a cliff or sea wall. This
structure consists of a large chamber. One end is open to the sea, and the other leads into a
vertical column, which is open to the atmosphere. A turbine is installed inside this column and
this is used to generate the electricity in two phases.



The first diagram indicates that when a wave approaches the device, water is forced into the
chamber, applying pressure on the air within the column. This air escapes to atmosphere
through the turbine, thereby producing electricity.

The second diagram illustrates the next part of the process when wave retreats. As the water
level falls, the air from outside the column is sucked back in through the turbine. As a result,
electricity continues to be generated. The turbine rotates only in one direction, regardless of the
direction of the air flow.

In conclusion, we can see that this structure is useful as electricity is generated in both phases:
entering and retreating of water.



Bar chart, Pia chart

You should spend about 20 minutes on this task.

The bar chart below shows the estimated sales of jeans for two companies next year in Turkey. The
pie chart shows the projected market share of the two

companies in jeans at the end of next year.

Write a short report for a university lecturer describing the information shown below.

Write at least 150 words.
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The bar chart shows the estimated sales of jeans in thousands of pairs for two companies in
Turkey next year.



It is anticipated that purchases of jeans at Mango Co. will rise from 150,000 pairs in January to
approximately 500,000 pairs in August, and will remain there until November. For December,
sales are expected to be in the region of 600,000 pairs.

Meanwhile, it is estimated that the sales of jeans for Jack & Jones Co. will begin the year at
around 450,000 pairs in January, falling to about 250,000, before increasing to around 400,000
in June. For the next two months until August, sales are forecast to remain steady at this level,
after which they are expected to rise steadily to hit a peak of approximately 900,000 pairs in
December.

The pie chart shows that, at the end of next year, the anticipated market share for Mango Co.
and Jack & Jones Co. is 20% and 30% respectively.

As can be seen from the chart, the overall sales trends for both companies are forecast to be
upwards.



Line graph, pia chart

You should spend about 20 minutes on this task.

The graph below shows the demand for electricity in England during typical days in winter and
summer. The pie chart shows how electricity is used in an average English home.
Summarise the information by selecting and reporting the main features, and make
comparisons where relevant.

Write at least 150 words.
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The Demand for electricity in England during typical days in winter and summer is illustrated in
the graph. The use of electricity in an average English home is shown in the pie chart. From the
graph it is generally obvious that the demand is in its maximum around 2100 in winter times and
in its minimum around 400 being almost constant between 1200 and 2100 in winter times.
During summer times on the other hand the demand reaches its top point around 1300 and the
bottom point around 900 being almost constant between 1550 and 2000.



In wither times the curve gradually increases to reach 40000 units of electricity by 3 o’clock in
the morning. This is followed by gradual decline to its lowest limit of 30000 units at 9 o’clock. A
gradual rise is obvious again to reach a stationary level between 3 o’clock and 9 o’clock of
about 40000 units again. Then there is a sharp rise in the next hour to reach its maximum
before collapsing again to a lower level by the end of the day.

In summer time the curve gradually decrease to reach its lower limit around 9 o’clock of a bit
more that 10000 units. A gradual increase is noticed to reach its top of 20000 after which a
stationary phase is obvious between 3 o’clock and 10 o’clock at night of about 15000 units.

The pie chart on the other hand shows that 52.5% of the electricity is used for heating rooms
and water. 17.5% is consumed for ovens kettles and washing machines 15% is used in lighting
TV and radio and finally 15% is consumed in the sue of vacuum cleaners food mixtures and
electric tools.



Flowchart

You should spend about 20 minutes on this task.

The flowchart illustrates the production of coloured plastic paper clips in a small factory.
Write a report for a university tutor describing the production process.

Write at least 150 words.

Molten plastic

Red mould Blue mould

Quality control
Machine-check for strength

reject

Sortby hand

Quality control

Check colour mixture/singles

Y

Packing and Despatch

There are four main stages in the production of plastic paper clips from this small factory. Two of
these stages involve actual preparation of the clips, while the other two consist of quality control
before the clips are sent out from the factory to the retailers to be sold to the public.

To begin with, molten plastic is poured into three different moulds depending on the colour required,;
the colours are red, blue and yellow. Once these clips emerge from the moulds a quality control
machine checks them for strength. Unsatisfactory clips are rejected. In the third stage in the process
the clips are stored by hand into two groups, mixed and single colours. When this stage is complete
the groups are checked a second time to ensure that the colour mixtures are divided correctly into
single colours and mixed colour batches. Finally, the clips are packed and dispatched to the
markets.



Bar Chart,Pie Chart,Line Graph

You should spend about 20 minutes on this task.

In June 1996, an experimental flu vaccine was trialled in a large country town on females only.
Summarise the information by selecting and reporting the main features, and make
comparisons where relevant.

You should write at least 150 words.

Give reasons for your answer and include any relevant examples from your own knowledge or
experience.
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The diagrams show data for a flu epidemic which hit a large country town in 1996. Figure 1
gives the number of persons who died; Figure 2 shows the percentage breakdown of females
who received a new flu vaccine; and Figure 3 gives the number of cases of flu before and during
the epidemic.

In Figure 1 it can be seen that the flu was responsible for the deaths of 2 females but no males
in the period from March to May. However, from June to August, there were 4 female deaths
and 1 male death.

According to the pie chart in Figure 2, only those females most at risk were given the new flu
vaccine; 28% did not take part in the trial. Of those females who took part, 35% were aged (over
65 years old); 24% were babies or children; and 13% were either hospitalised or receiving other
medical attention.

From Figure 3 it is clear that the new vaccine had a positive effect on the number of new cases
of flu reported in females. There were just over 1000 cases reported in March, climbing rapidly
to a peak of 3500 in June. Thereafter, the number of cases dropped slowly to about 2800 in
August, before levelling off at 2500 for the rest of the year. For males, the figures were lower but
showed a similar trend throughout the epidemic.



Diagram

You should spend about 20 minutes on this task.

The diagram illustrates how bees produce honey.

Summarise the information by selecting and reporting the main features, and make
comparisons where relevant.

Write at least 150 words.

The diagram shows the seven most important stages in the making of honey by bees. The
process begins with the honey bees building a hive, and then finishes when the honey is ready
to be collected and used.

Firstly, the bees have to build a container. This is called a hive and it consists of many
individually built cells. Next, the bees leave the hive in order to search for flowers. When they
find a suitable flower, they collect the nectar from it, which is used to make honey.

The nectar is then taken back to the hive where the production process can begin. First, it is put
into cells. Then, following this, the nectar must be cooled down. In order to do this, the bees fan
the nectar-filled cells with their wings. As a result, the nectar loses its water content and then
finally, the honey is produced.



Line Graph

You should spend about 20 minutes on this task.

Eating sweet foods produces acid in the mouth, which can cause tooth decay. (High acid levels
are measured by low pH values)

Describe the information below and discuss the implications for dental health.

You should write at least 150 words
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Anyone who has visited a dentist has been told that eating excessive amounts of sweets risks
harming the teeth. This is because sweets lower pH levels in the mouth to dangerous levels.

When the pH level in the mouth is kept above 5.5, acidity is such that teeth are unlikely to be in
danger of decay. Sweet foods, however, cause pH in the mouth to drop for a time, and the
longer pH levels remain below 5.5, the greater the opportunity for decay to occur.

By comparing fruit sugar, cane sugar and honey, which are all common ingredients of sweet
foods, we find that cane sugar lowers pH levels for the longest period, thus producing the
greatest risk of the three. Approximately five minutes aftfter consuming cane sugar, pH levels
drop to as little as pH 3.5. They then begin to rise slowly, but do not rise above pH 5.5 until at
least 30 minutes have elapsed. By contrast, fruit sugar, which causes the mouth’s acidity to fall
to just above pH 4, poses a danger for a shorter period: tooth decay is unlikely 20 minutes after
consumption. Honey appears an even less risky substance. Though acidity falls to about pH
4.75 within five minutes of consumption, it returns to above pH 5.5 in under fifteen minutes.

The implications, then, are that people who insist on eating sweet foods should be aware of the
ingredients, and that fruit sugar or honey appear preferable to cane sugar.



Table

You should spend about 20 minutes on this task.

The table below shows social and economic indicators for four countries in 1994, according to
United Nations statistics.

Summarise the information by selecting and reporting the main features, and make
comparisons where relevant.

Write at least 150 words.

Indicators Canada Japan Peru Zaire
Annual income per parson (in §US) 11100 15760 160 130
Life expectancy at birth 76 78 ) 47
Daily calorie supply per person 3326 2846 1827 1749
Adult literacy rate (%) o8 a9 68 34

A glance at four indicators of economic and social conditions in four countries, Canada, Japan,
Peru and Zaire, in 1994 reflects the great differences that exist between wealthier and poorer
nations.

The table shows that Japan and Canada had annual incomes of $15 760 and $11 100 per
person, respectively. These figures were overwhelmingly greater than the corresponding figures
of $160 in Peru and $130 in Zaire.

Health indicators, too, reflected overall levels of affluence in the four nations. Life expectancy at
birth, for example, was higher among the more economically developed countries. Japan
reported the highest life expectancy, 78. This was followed by Canada, 76; Peru, 51; and Zaire,
47. This suggests that richer societies are able to put more money into health care than poorer
ones.

The amount of calories consumed daily per person roughly followed the same ranking.
Canadians each consumed some 3 326 calories per day while the Japanese took 2846 calories.
The corresponding figures for Peru and Zaire were 1927 and 1749, respectively.

Literacy rates among adults, too, were higher in wealthier countries, no doubt a reflection of
ability to invest in education. Canada and Japan both reported literacy rates of 99%, while Peru
claimed 68%. Zaire, the least economically developed of the four countries, had a literacy rate
of 34%.

The data appear to confirm the often cited link between national wealth and health and
education standards.



Pie chart

You should spend about 20 minutes on this task.

The pie charts below show the average household expenditures in Japan and Malaysia in the
year 2010.

Summarise the information by selecting and reporting the main features, and make
comparisons where relevant.

Write at least 150 words.

CAUSES OF WORLDWIDE LAND DEGRADATION
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CAUSES OF LAND DEGRADATION BY REGION

Region % land degraded by...
o over- . Total land
deforestation cultivation °Over-grazing degraded
North America 0.2 3.3 15 5%
Europe 9.8 7.7 5.5 23%
Oceania 1.7 0 11.3 13%

The pie chart shows that there are four main causes of farmland becoming degraded in the
world today. Globally, 65% of degradation is caused by too much animal grazing and tree
clearance, constituting 35% and 30% respectively. A further 28% of global degradation is due to
over-cultivation of crops. Other causes account for only 7% collectively.

These causes affected different regions differently in the 1990s, with Europe having as much as
9.8% of degradation due to deforestation, while the impact of this on Oceania and North
America was minimal, with only 1.7% and 0.2% of land affected respectively. Europe, with the
highest overall percentage of land degraded (23%), also suffered from over-cultivation (7.7%)
and over-grazing (5.5%). In contrast, Oceania had 13% of degraded farmland and this was
mainly due to over-grazing (11.3%). North America had a lower proportion of degraded land at
only 5%, and the main causes of this were over-cultivation (3.3%) and, to a lesser extent, over-
grazing (1.5%).

Overall, it is clear that Europe suffered more from farmland degradation than the other regions
and the main causes there were deforestation and over-cultivation.



